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Excellence exemplar for 91177  2015 Total score 23 

Q 
Grade 

score 
Annotation 

1 E8 

The reason for a low markup requiring a high inventory turnover is well 

justified with an explanation that uses the fact that only 90 cents (a small 

amount of gross profit) is made per pie. This necessitates a high number of 

sales, which has caused the inventory turnover to increase from 2014 – 2015. 
The corresponding increased gross profit and net profit (and the dollar 

amounts) is justified by the inventory turnover increasing from 41.3 to 45.2 

times. The strong linkages between markup, inventory turnover, gross profit, 
and net profit in this answer earned it the high grades 

2 E7 

Part (ii) is well justified, with dollar amounts and the office wages remaining 

the same and the effect of this on profit well explained. In part (iii), the 

increasing rate of return is well explained as resulting from increased profit in 
2015, which was a result of better assets used more efficiently. Specific 

reference was made to the dining room furniture and improved kitchen layout. 

The only thing missing for higher grades is the effect of this on the rate of 
return in a specific way.  

3 E8 

This answer refers specifically to the two procedures used by Perfect Pies and 

justifies how these have more effectively enable the owner to manage her 

accounts receivable. The justification is made as to how the procedures bring 
in cash more quickly and therefore how liquidity is enhanced and Perfect Pies 

therefore has cash available to meet their current debts. It refers to the 30 day 

credit term that Perfect Pies have in place. 

  

 


